Acceleration Problems 3 - Solutions
1) d=1/2(vf +vi)t


vf = 6 m/s, therefore it takes 4 s to reach 24 m/s

2) vf2 = vi2 + 2ad

       d = 70 m

3) a) vf = vi + at


b) d=1/2(vf +vi)t

         a = -4 m/s2


      d = 60m

4)  a) vf2 = vi2 + 2ad


b) vf2 = vi2 + 2ad

          a = -.98 m/s2


      d = 115m, so 115m - 90m = 25 m more
5) a) v=d/t



b) d=1/2(vf +vi)t


c) d=vit +1/2at2
        v = 16 m/s


    vf = 24 m/s



    a = .40 m/s2
6) vf = vi + at    vf=20 m/s, then d=vit +1/2at2, d = 40m

7) a) vf = vi + at


b) d=1/2(vf +vi)t

        a = .9 m/s2


     d = 8.1m

8) a) d=vit +1/2at2


b) d=1/2(vf +vi)t
       a= 1.3 m/s2


    vf=10m/s

9) a) vf2 = vi2 + 2ad


b) d=1/2(vf +vi)t

         a = 2.6 m/s2


    t = 5.4s

10) a) d=vit +1/2at2

b) d=1/2(vf +vi)t

           c) d=vit +1/2at2
           a = 8.3 m/s2

      vf= 100 m/s

       d = 600m, so for the 12th second 600m/12 = 50m
11) a) vf = vi + at


b) d=1/2(vf +vi)t

          a = -.68 m/s2


     d = 660m

12) a) vf = vi + at


b) d=vit +1/2at2


c) solved in b: 42m

vf = 1 m/s


    d = 42m, then






      v=d/t






      v = 7 m/s
